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1 [ERDKBEMELEEY 9.5E+3| 6.3E+5 1.3E+1 636,316.0 [ 1.1E+4| 2.9E+6| 2,942906.4 | 3,579,222.4
2 |7HUIILTER 3.7E+2| 7.4E+0 3774 | 19E+1| 4.4E+3 4,4439 48213
3 |[ZOoULBETFL 1.4E+4| 1.8E+3 158655 | 1.4E+2| 7.6E+4 76,491.4 92,356.9
4 |TOVIERTZEDKBMLE 3.3E+4| 2.0E+3 35355.7 | 5.9E+3| 6.9E+5 692,491.6 727,847.3
5 |[FOUIBEER-(DAFILTFI/)TFIL | 8.0E-1 0.8 0.8
6 |7ZoUILBE-2-EROXSIFIL 29E+2| 4.1E+ 3314 | 6.0E-1| 1.0E+6] 10032458 | 1,003577.2
7 |72UILNEE-TFIL 4.1E+4| 1.6E+3 42,4726 | 2.2E+2| 18E+5 180,253.2 222,725.8
8 |7ZUUINEEAFIL 2.2E+4| 3.3E+2 222518 | 8.0E-1| 2.1E+5 214,867.1 237,118.9
9 |7ouB=tyiL 80E+4| 83E+3|  1.2E+ 88,4937 | 3.8E+4| 2.8E+5 319,634.8 408,128.5
10 [7oaLAY 9.6E+1| 2.3E+3 2,367.0 1.1E+3 1,116.8 34838
1A P2 | a UL NN 9.6E+1 96.0 1.0E+4 10,156.2 10,252.2
12 [7EF7ILTER 35E+4| 3.5E+4 69,869.4 4.1E+4 41,1170 110,986.4
13 |7&b=FIL 9.3E+4| 3.4E+3 96,753.1 | 5.0E+4| 4.8E+6| 48220204 | 49187735
14 [7EbDT/ER)Y 6.4E+2 644.7 644.7
15 |[7EF+I7> 1.3E+4 13,093.7 7.9E+3 7,911.8 21,005.5
16 |22-7YERA(YTFE=RJIL 5.3E+0 53| 3.0E-1| 24E+4 239775 23,982.8
17 |o-7=Sy 7.6E+0 76| 35E+0| 1.5E+3 1,503.5 1,511.1
18 |7=U> 1.8E+3| 2.0E+2 2,022.1 1.8E+3| 2.7E+5 273,558.8 275,580.9
19 [1-72/-910-7U 5% /Y

20 |2-73/T%/—)L 2.9E+4| 2.4E+4 525733 | 7.1E+4| 19E+6| 19766744 | 20292477
21 |yaysyy 1.3E+2 130.0 130.0
22 [247B=1 2.1E+2 206.7 206.7
23 |p-72/7z/—1 9.0E-1 09| 84E+1| 5.2E+2 608.0 608.9
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24 m-72/7z/—1L 1.7E+2 166.6 | 1.6E+2| 6.0E+3 6,146.8 6,313.4
25 [ARYTOY 1.3E+2 130.0 130.0
26 [3-7z/-1-7AR> 8.7E+ 87.0 1.5E+2 150.8 237.8
27 |A43bEY 3.1E+0| 3.6E+2 367.1 367.1
28 [ZUnL7ia—i 1.1E+3| 1.4E+3 2,478.9 5.3E+4 52,760.4 55,239.3
29 L‘ TUNAFL23-TRILTOR g0y 567.2 4.1E+4 41,076.0 41,6432
30 E%g%i’ﬁ;ﬁ;ﬁ?g&’gﬁ% 9.36+2| 7.6E+3 85786 | 15E+4| 42E+5| 4359375 |  444,516.1
31 [PUFEVRUEDIEED 86E+2| 44E+3|  2.5E+5 2529730 | 3.1E+2| 5.4E+5 544,654.9 797,627.9
32 [Frbsty 1.8E+3 1,754.5 1.4E+3 1,404.0 3,158.5
33 |EfR 2.8E+5 276,120.0 276,120.0
34 |1PDI 1.1E+2 107.9 | 6.0E-1| 1.6E+4 15,697.6 15,805.5
35 [AVTFLFILTER 21E+4| 19E+3 22,406.5 2.6E+2 256.6 22,663.1
36 [1vTLy 1.6E+4| 2.9E+2 158104 | 1.6E+4| 2.2E+4 38,716.2 54,526.6
37 |[EXTz/—ILA 1.4E+2| 2.4E+2 3798 | 16E+1| 1.7E+5 168,653.1 169,032.9

22-{(4V7aEY FUER[(2,6-CT7
38 [AE-41-TzzLU) XL T 1.2E+1 12.0 12.0
/=

39 |FxFIRR

40 |Eozr+E—k

41 [Furs=n 6.2E+0 6.2 2.0E+3 2,043.0 2,049.2
42 |2-ASZJYSUFAY 2.9E+1 29.0 9.7E+3 9,722.0 9,751.0
43 |M2/958>0y 3.8E+0 38 38
44 (A CHLRUVZDILEY 3.2E+1| 1.7E+2 2032 7.0E-1| 1.8E+4 18,391.0 18,594.2
45 |THAVFA—IL 3.1E+0 3.1 3.1
46 | AKRYIIFIL 4.7E+ 47.0 47.0
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47 [743k2 4.9E+2 4912 4912
a8 |EPN 246+4|  1.0E-1 23,8246 3.0E-1 03 23,824.9
49 [RoFarm1 8.0E-1 0.8 6.6E+2 658.1 658.9
50 |EUR—h 30E-1| 35E+0 38 38
51 |2-TFILAFHUE 3.7E+2| 9.0E+1 4575 | 50E+3| 57E+4| 61,9527 62,410.2
52 |[75=hLT 39E+2 390.0 390.0
53 |[TFLRLEY 14E+7| 16E+3|  25E+1| 136025247 | 9.1E+2| 4.2E+6| 41576358 | 17,760,1605
54 [R2FF7HE—K 4.4E+2 4420 4420
55 |[TFLoA3v
56 |TFLUAFIR 1245 40E+3 1215788 | 24E+4| 14£+4| 370259 1595047
57 }Ifl”’j”:'_”’%/ TFVT=T | qE+5| 1.9E+2 1145621 | 9.5E+1| 50E+4| 501824 | 1647445
58 }Ij[” TUI—NEIAFNI=T | 33e.4| 19643 345798 | 20E+1| 42E+5|  4168717| 4514515
59 |TFLLUTIY 436+3| 1.4E+4 18617.7 | 2.1E+2| 1.4E+5| 1432344 | 1618521
60 |TFLL T T mERE 1.0E-1| 49E+1 493 | 14£+2| 36E+43 37637 3.813.0
61 [woro 2.3E+3 2,305.0 2.305.0
62 [wrat7d (votD) 1.0E+0 10| 90E-1| 16E+3 16085 1,609.5
63 [CHOF7RPTOIR (PHUTYR)
64 |ThozoTRVHR 2.0E-1 02| 40e-1| 3.1E+2 3134 31356
65 |TE/OAERYY 45E+4| 40E+2 458530 | 38E+3| 52E+5| 5283307  574,1927
66 [1,2-THRF¥ITHY 2.1E+3 2,052.2 7.3E+2 726.0 2,778.2
67 |23-TAEL-1-TOs8/—L 5.4E+3 54110 9.6E+0 9.6 54206
68 ]/'%‘I’R*:/j”"oy BALTOEL | 5 opea| 12644 423171 | 60E+4| 19E+4| 789980  121,315.1
69 f_r'ilﬂf#:/jomf”’zjlz”’l_ 8.7E+1| 5.0E+0 91.5| 1.1E+1| 3.0E+3 3,059.0 31505
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10 ITAYFUBlaREEFBHRIERUVIY

AIFUBIbREBRIEDEESY
71 [ELE= 24E+2| 6.4E+3 6,604.8 3.1E+3| 8.1E+6| 8,075383.1 | 8,081,987.9

BIE/85T742 (C10-13RVZFDE
72 |2

&)
73 [1-A94/—1L 6.6E+2| 1.3E+1 669.1 1.3E+1| 5.3E+4 53,108.2 53,777.3
74 |p-HHoFNIz/—IL 3.0E+2 299.5 5.0E-1| 5.1E+4 51,360.9 51,660.4
75 |ARIHLRUVZEDIEEY 2.8E+2| 1.9E+3 3.2E+4 34,585.0 1.0E-1| 1.3E+5 125,241.5 159,826.5
76 |e-HTOS5H4 L 3.5E+4| 8.2E+4 116,904.0 | 4.4E+1| 9.4E+5 936,819.8 | 1,053,723.8
77 AL TFER
78 [24-FTL/—)L 8.1E+1 81.2 2.8E+4 27,547.9 27,629.1
79 [26-FL/— 7.9E+2| 3.6E+2 1,150.1 1.2E+2| 2.0E+5 205,004.9 206,155.0
80 |FLv 2.0E+7| 5.7E+3 1.4E+1| 20,037,118.5 49E+3| 7.2E+6| 7,245828.2 | 27,282,946.7
81 |F/)v 1.5E+2 153.7 6.1E+3 6,090.0 6,243.7
82 [ERUZFDKEAEMIELEY 1.3E+2| 4.2E+2 2.4E+3 2,938.8 25E+2| 4.6E+3 4,881.0 7,819.8
83 |UAV 1.2E+5| 1.7E+3 126,694.5 5.8E+0| 9.9E+4 98,607.2 225,301.7
84 |JUFFH—IL 1.3E+1| 3.4E+1 46.8 1.3E+1| 8.4E+3 8,446.7 8,493.5
85 | ILAILTILTER 1.7E+1| 1.1E+0 18.3 1.3E+2| 2.7E+3 2,789.7 2,808.0
86 |ULY—IL 1.5E+4| 1.7E+3 16,355.1 6.6E+2| 7.9E+5 791,842.1 808,197.2
87 |/O0LRUE/OLIEEY 3.0E+3| 3.5E+4 1.6E+5 198,510.9 51E+3| 2.6E+7| 26,331,547.6 | 26,530,058.5
88 |6flivALILE 1.5E+2| 1.1E+4 10,721.1 2.7E+2| 2.7E+5 271,054.9 281,776.0
89 |yoar=yy 1.7E+1 17.4 1.0E+3| 4.0E+3 5,035.0 5,052.4
9 7DV 6.0E-1 0.6 1.5E+2 146.8 147.4
91 [vF7+Py 2.7E+0| 1.3E+1 15.7 15.7
92 |FLTZzUESK 4.0E-1 0.4 41E+2 410.0 410.4
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93 [Ah5H0—1 1.8E+0 18| 7.06-1| 39E+2 387.9 389.7
9 |[yooIFLY (EIEE=L) 1.6E+5| 4.1E+3 1631082 | 1.1E+3| 6.4E+4|  655200| 2286372
95 [FLFUFL 14E+1| 3.2E+2 334.2 334.2
9% [C7z/a+V—1 1.0E-1| 8.0E+0 8.1 8.1
97 [1-/AA-2~«(VAAAFILIRVEY
98 |yooEEs 2.1E+2| 71E+0 2165 47E+3 4,662.7 48792
99 |yOOEETFIL 18E+2 180.0 180.0
100 |[FLFS58—1 6.0E+2 600.2 600.2
101 [7528—1L 2 5E+2 253.0 2530
102 [1-yA0-24-S=frORL Y 1.1E+3 1,050.0 1,050.0
103 (1I-_|gFE(I)EI1_ 412'5:)7’[’7]' RT8Y 1.0E+4 10,007.0 736+4| 73,0000 83,007.0
104 /OO T)LAAAEY (HOFC-22) | 13E+5 126,535.1 23E+5| 2343867 |  360,9218
105 ?,_?H%Eo_lfél')z_:ﬂ\aj}b* AI% | se+s 1,500.0 1,500.0
106 :73';')':”“”7"’7“:'17’ (HCFC= | | 5E+4 15,0000 34E+3 34000 18,4000
107 |2BBKR)T)LARBAARY (CFC-13)
108 | 27Oy 3.0E-1 03| 10E-1| 84E+0 85 838
109 |o-&OOR LT 5.6E+1| 8.2E+1 138.0 55E+4| 550000 55,138.0
110 [p-¥aBRLTY 37E+2| 8.5E+1 456.1 20E+4| 29,0000 29,456.1
11 [2-yo0-4-—kO7=Y>
112 |-yaa=ro~ £y 32E+1| 2.0E-1 32.2 32.2
113 |22 (CAT) 5.0E+2 496.4 8.4E+1 84.0 580.4
14 |42 /77> 2.2E+0| 5.2E+1 53.9 53.9
115 |7z kSR 1.0E-1 01| 50E-1| 7.26+2 7186 718.7
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116 [NFIFF7IHR 9.2E+1 92.0 92.0
17 |F7a+V—L 4.0E-1 0.4 1.5E+1| 1.3E+3 1,290.9 1,291.3
118 [z2y074=)L 6.0E-1 0.6 0.6
19 |7z TarJy—iL 6.1E+1 60.7 60.7
120 [o-EBRZZ/—L 3.5E+1 35.0 35.0
121 [p-yOo7z/—L 7.5E+1 75.0 8.8E+2 877.0 952.0
122 |2-ynR7OEA B
123 |3-yOn7axy (E{E7YIL) 6.7E+5| 3.0E-1 666,236.2 | 2.3E+2| 5.4E+4 54,4240 720,660.2
124 [Hz000 1.0E-1| 3.7E+2 373.1 373.1
125 [pooRoEY 1.5E+5| 2.8E+3 1555812 | 5.4E+1| 2.0E+6| 19612634 | 21168446
126 yaARYA7)LABTIAY (CFC-

115)
127 |[oomiL L 34E+5| 2.7E+4 366,306.6 | 3.4E+2| 29E+6| 29249575 | 3,291,264.1
128 |yOOA4Y (BIEAFIL) 50E+5| 4.4E+3 500,690.1 9.7E+3 9,699.1 510,389.2
129 |4-BAA-3-AF)LTz/—)L 4.1E+1 40.9 40.9
130 |MCP (MCPA) 3.9E+2 393.0 393.0
131 [3-oan-2-AF)L-1-FAxRY 5.3E+3 5,255.0 9.2E+2 924.0 6,179.0
132 |37V RUZDIEEY 9.6E+1| 4.7E+3 4,794.1 4.2E+3| 2.3E+5 236,722.4 241,516.5
133 |BFEg2-TRFSTFIL 1.0E+5]| 1.8E+1 104,181.5 |  1.4E+0| 2.2E+4 21,685.2 125,866.7
134 |EFBEE =)L 3.4E+5| 8.4E+3 348,651.0 | 1.2E+3| 1.3E+6| 1,341,102.1 | 1,689,753.1
135 |EFEg2-ARFSTFIL 8.7E+3 8,745.5 5.6E+3 5,567.8 14,3133
136 [HUFILTILTER 1.4E+0 1.4 1.0E-1 0.1 15
137 [ 7F3KR 4.4E+1| 1.7E+2 213.0 6.0E+3 5,950.0 6,163.0
138 |>oBaY Ayk

6/21

EE . I27IAN) —RE /- BERRERV AT LBEHRRR




BRHERFANCDEYMEDIHEH -BE TR DHEH

£ E

==}

=

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

BEBE| (FHBERE)

® FHHE e/ B BUE ke F) )
5 HEAD FrkE Ak
PN —_ - =
= BE (3l8) REANKEAN| T | R | (o5 |EEn| BBE | BBE
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FTAEiL g}E
139 [FZAAR) Y
140 |7z>Fmssryy 34E+2 340.0 340.0
14 [SEFHZL 5.6E+2 555.3 555.3
142 [24-C72/7=y—)L
143 [44-SF73/871=LT—FL 5.0E-1 05 1.0E+5|  100,060.0 100,060.5
LS 7 [ O SEAE T TR,
144 | TALEMERBRUSTY | op 6| o7eea|  108-1| 1476071 | 6s8Ev2| 15845 1549211 302,528.2
BB E R )
145 [2~(CTFILFI/)TH/—L 3.5E+2| 6.0E-1 3459 | 30E+1| 1.3E+4 13,243.1 13,589.0
146 [EUIHRRAFIL
147 |FARDALT 2.8E+3 2769.7 | 6.0E-1| 3.0E+2 303.8 30735
148 [h7zrzxbO—IL 31E+3 31315 31315
149 Mgk 1.0E+3| 34E+2 13475 | 10E-1| 6.5E+4 64,843.1 66,190.6
150 |1,4-SF X4 4.7E+4| 3.3E+4 799754 | 15E+2| 1.0E+6| 10455246 [ 1,1255000
151 [13-CFFvsy 2.6E+4 262730 | 12E+2| 23E+4 22,8143 49,087.3
152 [ALayT 8.8E+2 880.0 880.0
153 |FhI AR 2.7E+2 2700 270.0
154 [ oAt LTIy 9.0E+3| 2.9E+3 119636 | 1.3E+3| 2.6E+4 27,180.7 39,1443
155 [N-(C2OAXS LFA)TRILASK | 1.9E+1| 5.2E+2 538.6 15E+4 14,935.4 15,474.0
156 [Coma7=yy 11E+1| 1.2E+0 i 122
157 |1,2->onnT4y 1.7E+5| 2.4E+3 1734663 | 1.2E+1| 70E+5| 7030980 |  876,564.3
- PR
158 1)) PIRATFLY BILE=UT | 5gei 53843 42,9145 1.7E+5| 1654008 208,315.3
159 [cis-1,2-CoOOTFLY 20E+2| 5.1E+3 5,334.6 8.2E+4 82,400.1 87,734.7
160 |33 FIRRAAITSITTIZN ) ge iy 284 1.0E+4 10,470.3 10,498.7
A
161 [S400S7)LA0A% (CFC-12) | 1.1E+4 10,926.0 2.4E+3 2,400.1 13,326.1
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162 |FoEHsr 2.0E-1 0.2 3.7E+1 37.0 37.2
163 |SYARTRSTILA OIS (CFC-

114)
164 ?)2(_%?5—?2_;51'1+U7)M—DIQ 2.5E+4 24,961.0 24,961.0
165 [24-SHnAkLTY 1.7E+3 1,700.0 1,700.0
166 |1,2-C4H00-4-=—pARVHEY
167 [1.4-Sonm-2-=rORL Y 6.3E+2 6300 6300
168 |[47OSAY 2.0E-1 02 4.8E+2 480.0 4802
169 [omy 9.5E+1| 6.8E+0 1015 |  1.26+1| 3.1E+3 30945 3,196.0
170 | 7R354V —IL 6.9E+0 6.9 6.9
171 |[FaEary—n 10E-1| 2.1E+1 206 20,6
172 |4 onshy 1.5E+2 150.2 150.2
173 |[EvoBvYY
174 [y=any 9.0E-1| 2.7E+2 268.1 268.1
175 [2.4-D (24-PA) 3.2E+42 3200 3200
176 2g16%?ﬂ?b_)1_7}b7r RT8Y 6.5E+1 65.0 65.0
177 [©4a0704R250 (HOFG-21) | 84E+3 8,400.0 36E+0 36 8,403.6
178 [1.2-soaa7Assy 4.8E+3| 6.6E+1 48935 | 79E+0| 65E+5| 6512379 |  656,131.4
179 |D-D 4.0E+3| 3.1E+2 42877| 1.3e+0| 7.1E+4| 712820 75,569.7
180 [33-sHmnRLUUy
181 [SoonnRs By 7.9E+4| 1.1E+3 80,066.8 | 46E+3| 65E+5| 6580033 |  738070.1
182 |5V o1y 11E+2 113.0 113.0
183 [E5VL—*k 2.0E-1 02| 78E+0| 1.9E+3 1,954.8 1,955.0
184 |SHn~R=L (DBN) 1.1E+0| 1.0E-1 12|  256+0| 1.1E+2 114.7 115.9
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185 Zf'ggo':'_;;;gj’w R7A/ 5.5E+4 55,115.3 13E+4| 127050 67,820.3
186 |U/O0ARY (IEAFLY) 84E+6| 4.9E+3|  3.1E+1| 83724358 | 326+1| 6.6E+6| 6,601,106.9 | 149735427
187 |SF7 /v 1.5E+3 1,500.0 1,500.0
188 [NN-DLHOAFL LTI a7E+2| 1.4E+3 1861.5| 10E+2| 94E+4| 945308 96,401.3
189 “j"‘_‘;;;’l":'j’l\f;ét‘z"\/ JFT 25E+4| 25,1949 25,194.9
190 |SoonRuasTY 2.7E+4 27,046.1 31E+5| 3102560 |  337.3021
191 |4vFOF+5y 3.2E+0 32| 30E-1| 6.1E+3 6,084.3 6,087.5
192 |T7 47z KX (EDDP)
193 |TFAFAARY (CRILKRY)
194 [kgo
195 |FOFAHRZ 1.0E-1 0.1| 35E+0| 2.9E+1 32,0 32.1
196 |AF 4 F7> (DMTP) 2.06-1| 15E+2 153.2 153.2
197 |X5vy (R5F4Y) 3.0E-1 0.3 6.0E+2 598.8 599.1
198 | ART—F 3.0E-1| 6.3E+1 63.2 63.2
199 [CI7/LAL Z£2R260 36E+1| 26E+3 26160 2616.0
200 [C=kARLIY 2.1E+1| 4.3E+2 4510 4510
201 |24-U=rOTT/—)L 1.4E+2 140.3 a5E+4| 451100 45,250.3
202 [UEZ LR EY 3.1E+2| 8.9E+ 402.9 33E+3 3.265.0 3,667.9
203 [CTT= 73V 2.7E+1 27.2| 30E+0| 57E+4| 566270 56,654.2
204 [Tz LT—FL 1.2E40 12 7.1E43 71230 7,124.2
205 |13-U71= LT 7=y 1.76+0| 4.1E+2 4118 38E+4| 378941 38,305.9
206 |AILRRILTFY 7.9E+0 7.9 7.9
207 |26-Utert-TFJL-4-9LY—)L | 86E+3| 2.1E+2 88559 | 3.1E+0| 6.4E+4|  64,136.6 72,9925
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208 [24-S—tert-TF LI/ —IL 9.4E+0 9.4 7.0E+2 697.0 706.4
209 ([CTJOEYOO0ARY
210 [22-270F-2-2F7 /7 7IF | 1.0E+1| 30E+4 208947 | 15e+3| 26E+2 1,759.6 31,6543
211 CIJOETFIIZ)LAOIAY Ny

Z2402)
212 |7E7z—F 2.0E-1 02 85E+2 845.0 845.2
213 [NN-SAF L P LR 7R 36E+5| 2.1E+4 3836931 | 23c+4| 57E+6| 57616009 | 61452940
214 [24-SAF LT =1 3.0E+ 300 7.4E+3 7,360.0 7,390.0
215 [2,6-SAF LT =1 21E+40 21 4.6E+3 4,566.0 4,568.1
216 [NN-SAF LT =1 11E+2 1081 | 74E+1| 23e+4| 232509 23,359.0
217 |FALH5 L 2.0E-1 02| 29e+0| 33E+3 3,331.9 33321
218 |SAF LTIV 10E+4| 7.7E+2 11,2246 | 11E+1| 78E+4|  77,559.9 88,7845
219 |PAFILDRILTAE 5.1E+2 513.0 513.0
220 Ef:’w*j' DNISVBOKE | ;o6 20 2 4E+3 2.371.0 2.373.0

gl

221 |RyT5HLT 1.18+0| 1.7€+1 18.1 18.1
222 |7z /FFHILTD
223 [NN-SAFILRFL LTI 3.8E+0 38| 17E+0| 14E+2 1427 1465
224 E'/":"" FURTUNTIVANAF | 2| 97642 0820 | 24E+3| 35E+4 37,2689 38,250.9
225 |Fy£ 0L (DEP)
226 |1,1-SAFILERTS Y 3.4E+0 34 34
227 (/82— H0Yk 853—H)

33-UAFIIETIZIL-44-CAIL
228 35 27T L 34E+ 340 340
229 |FATFHR—FAFIL 7.2E+3 7.163.0 7,163.0
230 [NUBDAFAITFILIN-TZZI | 4 gp 1.0E-1 354 20E+5| 2186740 |  218700.4

—-p-7z=LUTIY

10/21
EEE . TOTIRAMN) RS/ A)REERVATLBEHER




£ E
BRHERFANCDEYMEDIHEH -BE TR DHEH

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

E-BHE| (FHIFE)

==}

T Bett Eke/5) BHEke/F) _
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231 |33-CUAFAARITTY (o-k)D) 9.2E+2 920.0 920.0
232 INN-UAF LRIV LT IR 1.4E+6| 2.4E+4 1,432,766.6 | 3.4E+4| 86E+6| 8,670,316.6 | 10,103,083.2
233 [z kI —F (PAP) 8.2E+2 817.2 817.2
234 |R% 1.2E+3 1,181.0 2.9E+3 2,938.8 41198
235 |RERBOKBEMEE 6.5E+1 65.3 | 4.7E+3| 2.0E+3 6,654.6 6,719.9
236 |7A4FF=IL 2.6E+0 2.6 5.1E+ 51.0 53.6
237 [KEBRUZDILED 3.1E+1| 3.7E+2 5.3E+2 930.0 7.6E+3 7,634.3 8,564.3
238 [KFRIELTILTZ=IL 9.0E+1 90.0 9.8E+4 97,774.4 97,864.4
239 (HHEAXLEH 3.7E+3| 3.6E+1 37840 | 15E+2| 4.4E+4 439935 47,7715
240 |RFLY 1.4E+6| 14E+3|  1.1E+1| 14332635 3.8E+3| 1.7E+6| 1,667,076.2 | 3,100,339.7
241 f.z;jt;—':‘;\,f;i:g”@q_} FhT 2.4E+0 24 2.4
242 | LU RUZDIEEY 2.8E+3| 6.4E+3 8.3E+3 17,466.5 3.6E+4 35,549.0 53,015.5
243 |FAXH XU 6.8E+4| 1.1E+3|  1.5E+5 220,122.6 | 3.1E+1| 1.4E+6| 1.366,437.4 | 1,586,560.0
244 |5 Ay 1.0E-1 01| 6.0E-1| 2.5E+4 25,437.9 25,438.0
245 |FAR%E 1.1E+0| 2.5E+5 2544155 | 3.3E+3| 7.5E+4 78,209.3 332,624.8
246 |FATz/—I 3.7E+0 3.7 3.7
247 |[E390kRR
248 |FAT7Z/Y 2.0E-1 0.2 7.4E+2 743.7 743.9
249 (ZBLEYHRR 2.6E+1 26.0 26.0
250 | (¥ YFH4 8.0E+0 8.0 8.0
251 [Zz=hFOF 7> (MEP) 1.3E+0| 3.5E+3 3,485.6 3,485.6
252 |z FH> (MPP) 2.9E+ 29.4 294
253 |[Fooz/kR 1.0E-1 0.1 1.8E+2 180.0 180.1
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B Bett Eke/5) BHEke/F) _
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& 7 REANKEAN| T | R | (o5 |EEn| BBE | BBE
=l DHEH (DB RS a&t e i e ait A
254 |4 FARUKR (IBP) 4.7E+1 47.0 470
255 | THIOESII=ZILI—TI
256 | THUEE 1.5E+2| 3.0E+1 179.6 | 5.1E+1| 1.1E+3 1,182.5 1,362.1
257 | TV ILA—IL 45E+2| 1.6E+2 6115 | 6.8E+1| 4.7E+4 47,4153 48,026.8
258 |NEHAFLUTRIIY 2.96+2| 3.3E+2 621.6 | 1.4E+1| 1.4E+6| 13539004 | 1,354,522.0
259 (SR TA5 L 1.3E+2 128.3 1.8E+4 18,111.1 18,239.4
260 |#OoA4A=)L (TPN) 4.6E+1 46.0 | 1.0E-1| 4.8E+4 48,493.1 48,539.1
261 |7HS54K 1.0E-1| 1.5E+3 1,463.1 1,463.1
262 |FrSyEOIFLY 56E+5| 1.2E+3 5654475 1.4E+0| 4.2E+5 420,714.2 986,161.7
963 |THIVRRYTLARIAY (CFC-

112)
264 |2,35,6-Th3Y00-p-R2Y X/
265 | TRSERRAFILEKIZILER 7.5E+2 750.1 9.1E+4 90,877.5 91,627.6
266 | T7ILRYY 3.2E+1 32.0 32.0
267 |FATHhILT 2.0E-1 0.2 1.5E+1 15.0 15.2
268 |F IS L (FFL) 6.0E+0| 9.9E+2 997.2 3.0E+4 29,863.8 30,861.0
269 |1V T4b—IL
270 |FLIAILEE 4.7E+0| 1.5E+0 6.2 26E+0| 5.4E+5 539,383.7 539,389.9
211 |TLIRILEES AFIL 4.96+3| 1.0E-1 49250 | 1.8E+0| 9.4E+4 94,246.1 99,171.1
272 (SR/KBMHIEEEIEZRRS) 9.2E+2| 1.2E+5 2.9E+3 125,020.2 | 4.2E+3| 1.1E+6[ 1,152,080.1 | 1,277,100.3
2713 N-FFH/—IL 7.3E+4| 2.2E+1 732811 | 32E+2| 1.8E+5 179,527.2 252,808.3
274 |tert-FFHhoFA—)L 6.3E+2| 1.2E+1 642.8 7.6E+2 764.0 1,406.8
275 |FFYIVEREE SR A 20E-1| 1.8E+4 184418 | 5.3E+3| 15E+5 154,877.9 173,319.7
276 | TR TFLURVAZY 1.8E+2| 1.7E+3 1,879.1 [ 3.1E+3| 8.8E+3 11,921.3 13,800.4
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277 |NJTFILTIY 8.4E+4| 6.8E+3 90,711.1 |  4.1E+4| 6.6E+5|  703,509.6 794,220.7
278 |[FJIFLUTRSEY 6.9E+2| 3.9E+3 45909 | 1.4E+0[ 19E+4 18,733.9 23,3248
279 [1,1,1-r) 0BTy 4.9E+2| 2.0E+4 20,165.7 1.0E+0 1.0 20,166.7
280 [1,1,2-r)oOOTAY 1.1E+4| 15E+3 12,790.2 5.2E+4 51,890.0 64,680.2
281 |[F)ZOOTFLY 2.2E+6| 1.9E+3 2,190,436.2 | 3.9E+1| 1.5E+6| 15500182 | 37404544
282 |MJ)oOOEEE: 3.0E+0 3.0 3.0E+1 30.0 33.0
283 (2,4,6-F)o0OA-135-F) 7TV 1.6E+0| 8.0E+0 96| 7.0E+0| 4.5E+3 4,539.0 4,548.6
284 :“1'}3;7':“:'"')7”’71' AT (CFC~ | 4oE+2 4000 400.0
285 |[#OOEYY Y 1.7E+3 1,749.0 2.5E+3 2,500.0 4,249.0
286 (FJYBEL 3.0E+0 30 30
287 |246-k)yBATT/—)L 2.0E+0 2.0 20
288 |k)ZEATLABAZY (CFC-11) | 1.3E+3 1,319.3 1,319.3
289 (1,23-r)ynnrossy 2.0E+2 200.7 2.0E+4 20,000.0 20,200.7
290 [FyHyEARLEY 2.2E+3 22021 | 45E+2| 49E+4 49,650.0 51,852.1
291 | (YL TRIVEERI TS DL 2.0E-1| 1.5E+1 152 | 2.0E-1| 3.2E+4 31,921.2 31,936.4
292 (FUTFILTI 7.7E+0| 2.0E+0 97| 17E+1| 9.8E+4 97,947.0 97,956.7
293 |kJTILSYY 1.0E+1 10.0 3.3E+2 329.6 339.6
294 (2,46-F)THETZ/—IL 4.9E+1 491 | 17E+1| 26E+4 26,017.0 26,066.1
295 [355-RJAF JL-1-~FH/—)L 2.0E+3 2,010.3 1.4E+2 1447 2,155.0
296 [1,24-RJAFILRUEY 25E+6| 25E+2|  2.0E+0| 2521,6038| 1.8E+3| 65E+5| 6491975 3,170,801.3
297 [1,35-RJAFILRUEY 7.4E+5( 9.9E+1 1.0E+0| 7416009 [ 7.9E+2| 1.9E+5 195,506.0 937,106.9
298 |RJLUDAYT T R—F 1.2E+3 1.0E-1 11792 | 10E-1| 1.0E+5 99,949 6 101,128.8
299 [MLasy 4.4E+1| 2.2E+0 466 | 1.1E+4| 4.2E+4 53,011.0 53,057.6
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T Bett Eke/5) BHEke/F) _
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= FTAEiL gE
300 (b 43e+7| 23E+4|  16E+1| 43,038829.0 | 1.1E+4| 4.6E+7| 46,294,389.7 | 89,333218.7
301 [FLTosT7sy 44E+0| 9.0E-1 53| 52E+2| 2.3E+3 2,8475 2,852.8
302 |[F74LY 1.4E+5| 2.7E+2 140917.9 [ 1.5E+1| 1.4E+5 137,989.3 278,907.2
303 |15-FTAL2 DAY T HR—b 1.0E-1 0.1 0.1
304 |#A 8.4E+2| 3.1E+ 7.3E+4 738832 1.7E+0| 7.9E+4 79,355.2 153,238.4
305 [sRiL & 35E+3| 1.2E+4|  3.1E+6| 3,077,1905| 1.1E+2| 3.4E+6| 3411,596.5| 6,488,787.0
306 |ZF7UVILEEANFYAFLY 1.4E+2 1419 | 15E+2| 5.4E+4 54,200.9 54,342.8
307 [ZiEIEEEIE L= L 5.3E+1 530 | 7.0E+1| 9.2E+2 990.0 1,043.0
308 |=v# L 7.3E+2| 5.1E+2 12429 | 2.1E+2| 4.2E+5 416,317.2 417,560.1
309 |=v7ILE &Y 1.3E+3| 56E+4|  5.1E+4 108,691.6 | 4.3E+4| 2.9E+6| 2,896,299.6 | 3,004,991.2
310 (=hJO=EFEE 3.1E+ 31.0 31.0
311 |o-=hATFTZY—IL 8.0E+0 8.0 8.0
312 lo-=bEF7 =Y 1.3E+5 134,000.0 134,000.0
313 |=kas YRy 4.3E+2 427.0 427.0
314 [p-yoo=fta~rEy 3.4E+2 339.0 6.6E+3 6,587.8 6,926.8
315 [o-=kAMLTY 1.7E+1] 3.6E+1 52.7 52.7
316 |[=rARVEY 6.5E+2 651.2 2.1E+5 2135156 214,166.8
317 |[=rEAsY
318 [—Hilbik&k 3.0E+6| 2.8E+4 2,9953538 | 2.7E+2| 1.7E+3 20102 [ 2,997,364.0
319 1-/+/—1L 2.0E+1 196 | 1.0E-1| 4.3E+3 4,330.1 4,3497
320 |/= LIz /—)L 1.3E+2| 1.1E+0 1283 | 3.0E-1| 2.6E+4 25,983.3 26,111.6
321 |INFSH LIS 24E+2| 1.2E+4 11,951.0 | 9.6E+2| 1.8E+6| 1,795399.0 | 1,807,350.0
322 [CIFAR/S—X T )L— 791 2.8E+2 2828 22E+3| 15E+3 3,689.4 39722
14/21
EE . IO7IRAN) RS BEREER AT LREHER




BHEXRFNCOESYMEDHH -BE LR DOHLHE

="

£ E

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

BE}E] (FHMIFEE)

B Bett Eke/5) BHEke/F)
@ B4 (R4) = TEAD = | FXk&E = At
& 5 REANKEAN| T | R | (o5 |EEn| BBE | BBE
=l DHEH (DB RS a&t e i e ait A
323 |V AR Y 1.8E+0| 7.6E+1 78.2 78.2
324 1:; [(53 IRFLTOE LA F 1.5E+1 15.0 15.0
325 |A ¥ UER 3.3E+2 3300 51E+2 508.0 838.0
326 |yATJIVFOY
327 [1,2-ER@-YO007z=)LERSSY
328 |USL 1.3E+0| 7.0E-1 20 1.0E+4 10,382.6 10,384.6
329 |FRYA—/3A—F 1.0E-1 0.1 1.3E+3 1,257.6 1,257.7
330 i’;ﬂ;ﬁ g”ﬂ_jl:’l’l%’l’):'\c 2.6E+1| 1.2E+1 38.0 1.8E+4 17,529.1 17,567.1
331 |AXHYRR 4.8E+1 48.1 48.1
332 (MFRRUVTOERILEY 1.1E+3| 1.9E+4 8.1E+5 829,704.1 6.5E+0| 2.5E+5 2455686 | 1,075272.7
333 |EFSTY 7.9E+2| 2.9E+3 37186 | 7.0E+2| 1.1E+5 110,011.4 113,730.0
334 |4-EROF S REBEFEAFIL 1.3E+2| 1.8E+2 311.3 | 3.4E+2| 1.7E+4 17,524.3 17,835.6
335 |N-(4-EROFSTz= )L)7EFFIR 3.6E+1 36.0 | 3.2E+1| 85E+3 8,552.0 8,588.0
336 |EFRFX/Y 4.2E+1| 15E+3 15345 | 3.5E+3| 8.2E+4 85,122.1 86,656.6
337 |[4-EZjL-1->oanFty 2.3E+2| 5.4E+1 286.0 1.9E+5 190,240.0 190,526.0
338 |2-E=)LEYSY 6.2E+0| 2.5E+2 256.2 9.7E+3 9,737.0 9,993.2
339 |N-EZL-2-EayKry 1.0E-1 0.1 30E-1| 1.5E+3 1,496.6 1,496.7
340 |EZz=)L 8.2E+2 819.8 9.7E+3 9,696.2 10,516.0
341 |ERSTY 5.8E+2| 7.0E+2 12713 | 8.9E+2| 6.8E+4 69,132.5 70,403.8
342 |EUDY 8.1E+3| 1.6E+2 8,231.1 1.1E+2| 3.7E+5 368,960.9 377,192.0
343 |hTa—IL 2.7E+2| 1.2E+1 2844 | 6.3E+0| 4.0E+4 39,798.0 40,082.4
344 |7z LFFISY
345 | LERSSY 3.0E-1 0.3 1.1E+3 1,090.0 1,090.3
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% L REAKEN T O R | (O (R BmE | BEE
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346 |2-7x=)L7x/—)L 2.0E+0 20| 15E+3| 3.2E+5 320,518.0 320,520.0
347 |N-Iz=JLL 43R 1.2E+5 123,031.0 123,031.0
348 |7zZLUUTFEY 1.0E-1| 2.4E+3 2,408.1 6.3E+2| 3.8E+4 38,758.1 41,166.2
349 |7z/—)L 2.2E+5| 4.9E+3 2216132 | 9.3E+3| 3.7E+6| 3,748290.7 | 3,969,903.9
350 |RILARNY Y 5.0E-1 0.5 2.7E+2 2735 274.0
351 [1,3-T42T 6.3E+4| 1.5E+3 64,1770 | 4.1E+1| 6.4E+3 6,427.8 70,604.8
352 |TRILEECT)IL 24E+2| 7.3E+2 968.0 2.8E+3 2,8285 3,796.5
353 |FRILEEC ITFIL 4.4E+3 4351.0| 9.6E+0| 5.7E+3 5,687.6 10,038.6
354 |JRILEED-n-TFIL 2.1E+3| 4.0E+1 3.9E+1 21543 | 29E+2| 7.9E+4 79,610.3 81,764.6
355 | 7RILEEE RQ-TFLAFIIL) 2.1E+4| 6.9E+1 1.4E+1 20961.9 [ 26E+1| 2.7E+6| 2,679,326.5 | 2,700,288.4
356 |TRILEEn-TFIL=RUT )L 6.0E+2 598.4 4.6E+3 45723 5,170.7
357 |77y 7.5E+0 7.5 1.2E+3 1,202.5 1,210.0
358 (77 7/OK 5.0E-1 0.5 7.9E+1 79.3 79.8
359 :___}7[:%”’_2'3_17'%#:/70':'5”’1_ 1.4E+2 1441 | 10E-1| 2.4E+3 2,429.7 2,573.8
360 |R/3)L 2.5E+2 2521 252.1
361 |2 n\ARyTTFIL 2.2E+2 221.7 221.7
362 |CF Iz FHAY
363 |AFHTTIY 1.5E+1 15.0 15.0
364 |7zoEOF A—b 4.0E-1 0.4 6.8E+2 680.0 680.4
365 |FFILEFRFLT=Y—IL
366 |tert-JFIL=ERORLFFIKR 5.2E+2| 2.0E-1 524.2 5.9E+4 59,054.6 59,578.8
367 |o-sec-TFILTz/—)L 1.7E+1 17.0 17.0
368 |4-tert-TF/)LIT/—IL 1.1E+2| 7.0E+0 1132 | 2.6E+0| 3.2E+5 318,812.8 318,926.0
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369 |70/ %LE vk (BPPS) 3.4E+2 338.0 338.0
370 |[EYARY 1.7E+2 170.0 170.0
371 |[TT7I0ESK 1.0E-1 0.1 4.9E+1 49.0 49.1
N-(tert-FT FIL)-2-RJF7J—)L
372 |2 L oropep 4.6E+4 46,419.3 46,419.3
373 |2-tert-T FIL-5-AFJLTT/—)L 1.5E+2| 1.0E+0 151.2 3.6E+3 3,603.0 3,754.2
374 |32 KFRRUZDKBME 5.2E+4| 1.9E+6 1,910,592.1 41E+4| 7.9E+6| 7,893,787.6| 9,804,379.7
375 |- FF—IL 1.3E+1| 5.8E+2 593.4 6.0E-1 0.6 594.0
376 |F4o0—)L 5.0E-1| 4.1E+2 409.6 409.6
377 |75 1.6E+1 16.0 16.0
378 |FOERD 4.0E-1 0.4 9.2E+2 920.0 920.4
379 |2-FOE -1-F+—)L 3.1E+1 310| 5.2E+0| 1.5E+1 20.2 51.2
JOES/0027)LAO 2 NAY
380
-1211)
381 [JOESH/O0A2Y
382 JOEr)TZILAOARY (NO- 1 8E+3 18200 18200
1301)
383 |7owL 5.0E+0| 7.1E+1 76.2 76.2
384 [1-JmETO/> 1.3E+6 1,293,789.1 2.0E+5 201,990.2 | 1,495,779.3
385 [2-JOEFO/8> 1.3E+3 1,256.0 1.7E+4 16,700.0 17,956.0
386 |JOEASY 1.1E+5 107,960.0 107,960.0
387 [B&ET7zTARX
388 [TVRRILT7Y (RUYVIEY)
— , T
389 ;\,;FD*,’;:/ WRIAFIVTUEZT A o geq| 17644 169003 | 6.0E+1| 24E+3 24968 19,3971
390 [ NFHAFLUTOTIY 3.6E+3| 7.9E+2 4,393.3 3.0E+0| 3.8E+3 3,821.5 8,214.8
391 | ANFHAFLL=DAYL T R—k 9.4E+2 9415 2.3E+0| 1.2E+5 115,094.4 116,035.9
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392 |n-~FHo 8.7E+6| 1.3E+3 8,711,590.0 | 5.5E+2| 5.2E+6| 5,158,787.0 | 13,870,377.0
393 |R4FT+—)L 4.0E-1| 1.0E-1 0.5 1.5E+2| 3.0E+4 29,792.3 29,792.8
394 |RYYH LRUVZEDILEY 2.0E+0 2.0 5.0E-1 05 2.5
395 |RILAFY ZIHEED KBS 1.1E+1| 4.5E+3 4501.5 1.0E+3| 1.9E+5 191,381.1 195,882.6
RILIIVARG Y2 -1-R LR 3
396 B (PFOS) 3.0E-1 0.3 0.3
397 |[RLUYTL=kyHAaYER 2.0E-1 0.2 2.2E+3 2,200.0 2,200.2
398 |Ruo =4Ok 7.4E+1| 3.0E-1 74.3 6.0E-1| 1.7E+3 1,681.5 1,755.8
399 |IRVXTFILTER 1.7E+2| 4.6E+1 4.0E-1 221.2 7.5E+3| 4.2E+3 11,719.2 11,940.4
400 | Ry 5.8E+5| 5.9E+3 585,345.2 4.8E+3| 7.2E+5 726,282.9 | 1,311,628.1
AN, 1 3 _4m
401 ;é; NUERANARVEBL® | oe | 1 0e-1 455 | 36E+1| 3.4E+3 34453 3.490.8
402 | ATz FEvk 41E+1 40.5 40.5
403 | Ry IT/Y 2.3E+1| 2.3E+0 24.9 4.4E+2 436.0 460.9
404 |Rv449007x/—)L (PCP)
405 |[E5FLEY 3.3E+4| 2.4E+6 1.0E+4| 2,394,429.1 4.2E+4| 1.6E+6| 1,654,871.6 | 4,049,300.7
406 |RYIEILE Iz = )L (PCB) 3.3E+2 330.1 1.3E+4 13,152.0 13,482.1
RUGFLIFLU=FILFILI—
407 |20 (15 R UZDES ) 1.2E+3| 8.6E+4 87,124.9 1.2E+5| 1.1E+6| 1,249,031.0| 1,336,155.9
21 < )= —
a0 [PIAFYIFUANAIFIVIIZ=N | ae | 10643 10521 | 40E+1| 5.1E+4 51,408.7 52,460.8
LI—TIL
RUGFLIFLUERTFUILI—TF
409 [ e T 2 S Ll A 4.0E+0| 2.0E+4 19,748.4 1.5E+4| 2.5E+5 266,768.6 286,517.0
21 < =)= -
410 11_ i(;ﬁf/ TFL=/=NT2=0 | g e | 10844 10,336.6 2.3E+3| 1.1E+5 113,077.1 123,413.7
a1 |FRILLTILTER 1.7E+5| 1.6E+4 188,564.5 1.1E+5| 5.1E+5 621,901.8 810,466.3
42 |RVAVEUVZDIEEY 3.3E+4| 5.8E+5 5.0E+5| 1,120,736.9 2.9E+3| 6.6E+7| 65,720,532.9 | 66,841,269.8
M3 |EKTZIVES 2.0E+3 1,996.3 3.7E+0| 7.6E+5 763,506.9 765,503.2
M4 |EKTLAEE 2.2E+3| 1.0E+1 2,238.3 7.9E+1| 3.9E+4 39,416.2 41,654.5
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415 | A291) LB 1.3E+4| 7.5E+3 20,247.7 | 1.3E+4| 2.9E+5 306,288.5 326,536.2
416 [A2D)ILEE2-TFILAFIIL 1.7E+2| 2.6E+1 1934 | 7.0E-1| 2.1E+3 2,062.4 2,255.8
47 | A9 JLEE2 3-TRFLFOE L 2.7E+3| 1.1E+3 37534 | 56E+0| 8.7E+4 86,711.6 90,465.0
418 (229 ILEER2-(DAFILTE/)ITFIL| 3.5E+2| 2.8E+ 379.1 | 30E-1| 2.3E+5 230,532.0 230,911.1
419 (A59Y ILEEN-TFIL 2.4E+3| 1.4E+2 25372 | 5.3E+1| 1.4E+5 136,869.2 139,406.4
420 | ARV ILEEAFIL 3.1E+5| 1.0E+4 325,107.4 | 2.4E+2| 49E+5 490,306.2 815413.6
421 |4-AF)ToF X R -2-F 4.3E+1| 5.6E+0 48.6 48.6
422 |7z LY 2.9E+1 29.0 4.1E+2 4137 4427
423 |AFILTZIY 6.4E+2| 3.3E+2 971.2 4.0E+4 40,434.6 41,405.8
424 | AF =AY FF LT r—t 8.2E+0 8.2 1.4E+2 1400 148.2
425 |4y 7RAILT (MIPC) 1.4E+0 1.4 7.7E+1 77.0 78.4
426 |AIILRITZY

427 |AJL2NJJL (NAC) 6.0E+2 598.6 598.6
428 |7/ AT (BPMC) 1.0E-1 0.1 2.7E+2 266.4 266.5
429 |,/\ARJLTAVAFIL 1.2E+2 116.0 116.0
430 (AU RFHHILT 5.8E+1 58.2 58.2
431 |7V ¥ RbOEY 4.0E-1 0.4 1.7E+3 1,678.0 1,678.4
432 |72F5X 6.0E+0 6.0 6.0
433 |Hh—iNL 7.3E+2 730.5 730.5
434 |FHFH3I)L 5.3E+0 5.3 5.3
435 |EYZ /NI AF L 1.0E-1 0.1 1.0E+2 101.1 101.2
436 | @ -AFIILRAFLY 20E+4| 3.0E-1 20,4419 | 9.3E+0| 4.4E+4 43582.7 64,024.6
437 |3-AFILFATOIRF—IL 1.0E+0 1.0 1.0
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ATAEIL e

438 |AFILFTELY 0.8E+4| 1.1E+2 977772 | 10E-1| 126+45| 1184628 | 2162400

439 |3-AFLEYSY 756+2| 9.0E+0 7635 | 25e+0| 10E+5|  1025225|  103.286.0

ag0 [1TATNAATTTZNIFIVEERRARL 5 oe 0| 52841 59.2 5.5E+4 54855.0 54.914.2
IWAFUR

441 | /+7 (DNBP)

442 | 470z 5.8E+1 58.3 58.3

443 | Az 8.8E+2 882.3 882.3

444 |Fy7OFLRAOEY 1.0E-1 01| 60E-1| 32642 3223 3224

445 |HLYRS LAFIL 1.7E+2 166.0 166.0

446 |44-AFLUST =YY 6.0E~1 0.6 10E+4 10,137.9 10,1385
AFLUE RG-S HANEILU)= .

a7 37 oS4 15E+1 153 | 60E-1| 1.0E+3 1.026.0 10413

agg |JTLPERGITIZL=DAY | e s 77529 | 10E-1| 51E+5| 5006593 | 517.4122
V7 r—k

449 | I AF4TT L 2.2E+0| 6.0E+2 598.2 598.2

450 |[EYTFALT 1.2E+1 11.7 11.7

451 |2-ARF-5-AF LT =)

452 |- ALHTRRUYF T —IL 2.6E+1 3.0E-1 265| 30E+0| 64E+4 64.286.0 643125

453 [BEVITTURUZEDIEEY 2.4E+3| 4.2E+4 44511.9 1.7JE+4| 5.7E+5 591,173.5 635,685.4
_ 1SS N FT —

454 fb(“t‘”"—'”/ IFDNLIFTI | 9061 0.9 5.8E+2 579.0 579.9

455 |EILARY> 35E+3| 7.9E+3 114506 | 30E+3| 14E+5| 1397065 |  151,166.1

456 [ MAETILE=H L

457 |>40)LHKR (DDVP) 1.4E+1 141 | 44E+1| 16E43 1,644.0 1.658.1

458 |YABERIRQ-TFLAZ L) 456+ 454 3.1E+4 31,103.0 311484

459 |YAEEN)R(Q-/O00IFIL)

460 |YABERYRYIL 2.36+2| 1.0E-1 2327 | 69E+1| 43E+4 42787.2 43019.9
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n B e/ ) BIE e/ )
Py ‘ B
= BH4 (B14) xan ke~ TENC) g | TAR I mus BUR
g ool FEE L Tagt | 08 Vg | s At

461 |[YABER) =)L 3.1E+1] 1.5E+2 181.1 2.6E+1| 55E+4 54,887.5 55,068.6
462 |YAEER)-n-TFIL 1.0E-1]| 6.2E+0 6.3 7.5E+3 7,507.8 7,514.1

1)243
2)

mg-TEQ/

21/21

EE . I27IAN) —RE /- BERRERV AT LBEHRRR




